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32 Molto rallentando Meno mosso (4 = 64) Slentando Tempo primo (- = 84)

N ~
Eb Cnt. E> Cnt.
B
~
B> S. Cnt. B> S. Cnt.
B> S. Cnt. B»S. Cnt.
~
B> S. Cnt. B»S. Cnt
~
B> S. Cnt.
B> S. Cnt.
~
B> R. Cnt.
B> R. Cnt.
~
By Cnt. 2 B G
> Cnt. 2
~
BbCnt. 3
B>Cnt. 3
) ~ ~
B Fl. Hn. |_§
Bs Fl. Hn.
) ~ ~ N S
Eb S. Hn.
® =] ==
mp 7 E>S. Hn
éz ~ A T T
EbHn. 1
® i{ ==
e ’ EbHn. 1
) ~ ~
Eb Hn. 2
. - - EbHn. 2 &
Bb Bar. 1 nf ———Ff psub
9
~ B> Bar. 1 §
s ~ Ui ===
B Bar. 2 W ———r | s
G
9
Bb Bar. 2
5 ~ ~ 7 ==
B> Tbn. 1 W " f  pub
. = - -
B>Tbn. 1
A ~ P
Bb Tbn. 2
9 >
B Tbn.2 |&
B
~ ~ P
Bs. Tbn.
Bs. Tbn.
2 G g DRy s = . ia b £ S £ %
B> Euph. 1 (1% ] === = =F: =
‘ - \é = ) B> Euph. 1
Mf " fapiacere pub. ! mp—— f PP —_—
~ — ~
Bb Euph. 2
B> Euph. 2
5 ~
EbBs. 1 g
E»Bs. 1 %
5 ~
E»Bs. 2 0
* EbBs.2
o
) o} .
BbBs.
D B> Bs.
©
~
Timp. Timp.
~ Marimba (soft sticks) A N Xy _ N )
Perc. 1 = = = Perc. 1 %
i v = o s
»
~
Perc. 2 Perc. 2
~ ~
Perc. 3 Perc.3

REDBAD - 9 REDBAD - 10



Eb Cnt. =
=1 ==
- =
B»S.Cnt. 1
=== =
e =
B»S.Cnt. 2
=== =
ey e
B»S. Cnt. 3
= =
- e
B»S.Cnt. 4
= =
B» R. Cnt.
B 1 14
B» Cnt. 2
B 1 4
b Cnt. —
B Cnt3 S z Z
BY Fl. Hn. ——
S iz
E>S. Hn.
e
E> Hn. 1
e
Eb Hn. 2 =
SE=SS —— ——— = == =aS= = ;
S
0 S~ Z = T = e = = e =
poat & == Se==—=—=sc== ===
& Bar.2 ==
> =5 ===
“ S = 2 == = =
B> Tbn. 1
- === = =pa===<S i
B> Thn. 2 = = = =
S C !
s
= =T e -
Bs. Ton. sS=== 5
e = i S— = 3 = =] =
s ; . ’
A e S o e e 0 e e S - - - > S - = 2 )
F, g ,
Bb Euph. 1
- =E_.==J = = == =§=.=.‘y = === =
e p - o Sem—cIl— e = s et
Bb Euph. 2 [ = =
= = > = = = =] = N = o= == N S
E»Bs. 1
G
S
EbBs. 2 =
S
9
B» Bs.
=
S
Timp. =
=
5 s PR N =
Perc. 1
%— = g—:y: 5
Perc. 2
Perc. 3
REDBAD - 11

Hell or Heaven
Tempo primo (/= 84)

E>Cnt.
>
B>S.Cnt. 1
—~
>
B>S.Cnt. 2
—
>
B»S.Cnt. 3
—
>
B>S.Cnt. 4
B R.Cnt. ;
B> Cnt. 2
By Cnt. 3
Bb Fl. Hn. E
E>S. Hn
E>Hn. 1
EbHn. 2
Gi
—_—
i ST 2t : ‘ — .
Bs Bar. 1 ¥
—| 7 Vi : i
, === et e A
Bs Bar. 2 :
B ——————— 7
—_— N
o) =
B>Tbn. 1
~
B> Tbn. 2
3 s = s ER—
7
ol \
Bs. Tbn.
= = <+ - - = <
b . - - .
i E== == PP S ~ ,
B> Euph. 1 @ 7 ‘ 7 =: = =
— a <
) == == el £ ~
B> Euph. 2 = 7
Bt = : === =7
b = 4 z
~ . \
Ev»Bs. 1 %
r R
~
E>Bs.2
= EE B
~ 7 Al
B Bs.
z = =]
b <
ol , -
Timp.
= = ===
- b A
9 seeefEE o}
Perc. 1 % e
5 f
f———| Suspended Cymbal
—r damp
Perc. 2
nf ——| o
A BD.
Perc. 3
Sz

REDBAD - 12




S e > > =

Eb Cnt. ==
7 5 == === == = ===
===
> st il ale &
‘
& s.on 1 = = d=
7 I
B on2 == = g
a2 —_—
0 $ % Siy e ip)
B»S.Cnt. 3
== e ===
7 p—
g == =T
B»S.Cnt. 4
‘
BR.Cnt. & = -— == — ===——¢
- ; ===
X N . o _
BbCnt. 2
en S =R ===k =i eEEET %
a s s - [—
b .
B Ct.3 S=Ssss= ea====== =L 2 st
N2 E 7 p—
Bb FI. Hn.
EbS. Hn.
> S. Hn ==== == ===
I~ -
) —L L —
EbHn. 1
& == === =
7 p—
L -
E tin.2 == ol
O ==
7 p—
N = T P
BBt B — === = S22 E—s——u
E E 7 p—
Bb Bar. 2
s Bar — = : S = "
= = N p——
Bb Thn. 1
R ERG = - : ‘
B> Tbn. 2 =
ER R (& = - =
Bs. Tbn.
= 3 S ERE] S E E = z
5 . =
8 Euph-1 F = ‘ =
Bb Euph. 2 [% = = — 4 E E: =
EbBs. 1
EbBs. 2
* = ERE o = E
1))
Bb Bs.
vz - e =3 =3
Tim. = =—F=
Perc. 1 = -
;. =
Perc. 3
REDBAD - 13

58 Senza misura (s = 54) Allarg.
g~ o)
E>Cnt.
B> S. Cnt.
B> S. Cnt.
B> S. Cnt.
B> S. Cnt.
B> R. Cnt.
B>Cnt. 2
©
b
One player, cup mute (from a distance but far from the FI. Hn.)
/e ~ Iy I — T~
B>Cnt. 3 =
G = == e e =~
1 pp semplice
. ~  Solo (froma distance) . : J—
Bb Fl. Hn.
S t f SESESSS S 7 = =SS 1
ppsemplice
e )
E>S. Hn =
C
955 o
E>Hn. 1 =
<
/i ol
EbHn. 2
L
)% ol
By Bar. 1
Ly 2
e ~
By Bar. 2 =
Gy 2
" ~
B>Tbn. 1
v = = iz
S
5 ~
B> Tbn. 2
M
~
Bs. Tbn. =
TR =l
S
= ~
Bb Euph. 1
1 5
~
Bb Euph. 2
=z E]
M
N ~
E»Bs. 1 =
G =
} M
N ~
EbBs.2 =
v 12 =
S
~
BbBs.
T4 =
S
~ (damp)
Timp. =
=
M
~ (damp)
Perc. 1 =
M
Perc. 2
~ (damp)
Perc. 3

REDBAD - 14




Tempo primo (» = 84)

IR

, .—.%t%ﬂz%ﬂr

7

9
Eb Cnt. =
o
alternate
5 5 5 5
By S. Cnt.
5
B> S. Cnt.
B> S. Cnt.
B> S. Cnt.
alternate
7
B> R. Cnt.
!
9
B Cnt. 2 =
5
Retum to seat
BCnt.3 |&
o
) Retur to seat
Bb Fl. Hn.
.
s =
Eb S. Hn. §
7
Eb Hn. 1
o
Ea
)
Eb Hn. 2
b
9
Bb Bar. 1 § 7
5
)
Bb Bar. 2
b
9
Bb Tbn. 1 Iz
S
Ea
Bb Tbn. 2 J
Bs. Tbn.
i
B> Euph. 1 |&=
o
b
Bb Euph. 2
EbBs. 1
EbBs. 2
D=3
7
5
Bb Bs.
-
b
Timp.
b
)
Perc. 1
.
Perc. 2
Perc. 3
7
REDBAD - 15

E> Cnt.
_ 5 b
B> S. Cnt.
_ S b
B S. Cnt.
- 5 b
B S. Cnt.
B> S. Cnt. = _
B> R. Cnt. £
a ] ]
B> Cnt. 2
B Cnt. 3 = =
B Fl. Hn. =
< Z
S
Pt lied Z ba _ _ .
5 S. Hn
v s
Eb Hn. 1
= f f f f
S
E>Hn. 2 ?
atermate J— \ —
8 Bar 1 ) = L - ok PF eher,bE b, Fiebe e
R = = 7 7 7 7 = =
atemate
b eberybF iebe ) Fheb >
B Bar. 2 lFE—
DA 5 = = 7 7 7 ¥ = 9
BT [
SES = =
7
B Ton. 2
SESS e = =
s
Bs. Ton. = =
v v i 2 =
) “alternate
g | ——— t - >
BEwn 1 (B : S=====
v oz = = 7 5 5
atermate
P - ey
Bb Euph. 2
R = b 7 7
£ Bs. 1
DR 5 £l
E>Bs. 2 F
YT TeE % -
5
By Bs.
i 2 =
|—— = >
Timp.
" ifﬁt:iwﬁi% Perebete
Perc. 1
T 5 7 7
Perc. 2
§ 3 3
Tam-tam
Perc. 3

REDBAD - 16




H = = = Z
Eb Cnt. = = = = = B> Cnt.
mo & 2 i Sepan=pag=a=c) »Cn S
, - % & 7 > 5 ey Pl _ . - - z
B»S.Cnt. 1 5 = By S.Cnt. 1 ||
* = 5 7 = =7 [ 5 - f
7
=~ = N P - - - - N
BS. Cnt. = 3 B)S. Cnt. 2
7 = T . ¥
™ " 0 =~ - _ L _ _
BS. Cnt == B»S.Cnt 3
7 7 [ “ mp '
§ < - ) - -
BS. Cnt. B>S.Cnt. 4
: f = =
mp
0% ,
B R. Cnt. B R. Cnt.
& 2 = - 3 s
"“p
B Ont. 2 ] Bon2 |5 : = : =
% ! i
5 < , _
5 - - B»Cnt. 3
Bens |G & = : = :
H - t t = t t
- - B) Fl. Hn.
B) Fl. Hn. T = =
= : 2
r 5 = S PR .
- B - - - - - - £5S. Hn
E)S. Hn. = = ’ Car—
£ f T
ﬁ.
0 e o _
= = = = £ Hn. 1 -
E> Hn. 1 = = g = g G i i
= f = =
7
s - e _ -
| ; £ Hn. 2 :
EbHn. 2 = s - = i g, F ' =
-
[ ipbe N iebe SN isbe g ?P/'\\ e = = b= > = = Bb Bar. 1 L = = = =
By Bar. 1 Sl . S
E] 3 B E2 > = > 5 T e mp sub.
: v
Do > iebe 2 e be 2 - - - - - = } t —_—" t
§) el Lpbe Lpbe o n
- - - B Bar. 2 - -
B Bar. 2 = — = =
b= LIy for et ‘ ‘ ‘ i
EAREEESyS
85 Ton. 1 B Ton. 1 Pl T : : f f
- p it
B> Thn. 2 - B>Tbn. 2 f = = = = E: <
= = i B ; i i p o
_ s — ~ — = = = - >
Bs. Ton - E = - = Bs. Ton. 2 = : f
= = 2 = 2 mpih *
[ tebe N iebe D iebe 2N Ed . N - P _ o Euh 1 % i 5 5 5 4 5 P 3 5 7 3
B Euph. 1 e N Sge o e o e 222 e — i =
— e
P PP -
B) Euph. 2 B Euph. 2
7 5 5 T = = = t =
9 0
Eb Bs. 1 § = Z! = E»Bs. 1 i = - = 7
1)) 0
E»Bs.2 = - 3 E)Bs. 2 :
B Bs. B Bs.
o - Ei E ERERE E:
Timp. Timp.
g 2 2 s s de
E E E Perc. 1
Pt i Si= S
7 ) )
Perc. 2 = E: Perc. 2 % s
A 7
Pere. Pere.3 =SSR S ==2=SSEEE S

REDBAD - 17 REDBAD - 18



Eb Cnt.
B> S. Cnt.
B> S. Cnt.
BbS. Cnt.
B> S. Cnt.
B> R. Cnt.
B> Cnt. 2
B> Cnt. 3
Bb Fl. Hn.
Eb S. Hn.
7 L a
Eb Hn. 1 ﬁ
<
mf L
p - - - - - -
EbHn. 2
nf o
L B _ - - £oe phe L, . = =
By Bar. 1
§ T 3 G
nf £
2
Bb Bar. 2
> ,‘,,, i = i ;r 3 '
- 4= _ ia 5 i g =
B> Tbn. 1
J ra
. ~ ~ - _ - - z bz,
B> Tbn. 2
Ea
_ = _ - 2 a— S bz
Bs. Tbn.
ki
alternate - - = oL
- TN TN FN e e ebe be .
bewn | (i = e
up! = = = = === > 5 5 7 7
N2 e m—
na . K =, /ﬁ
alternate i e e -y e A 1 DA P . &
By Euph. 2 |eErEe e =
5 ; 7 z
g 7 7
nf
alternate. -
, e
EbBs. 1 o
—=
alternate 2 s 2
I=——— 1
EbBs. 2 >
« v
4 g I
B5 Bs. = . #@y@'
Timp.
Perc. 1
5
Crash Cymbal (wooden stick)
Perc. 2
K
Perc. 3
REDBAD - 19

Sub. meno mosso (+ = 66) Allargando
g
E> Cnt.
5
9
B S.Cnt. 1 [|&
S
B»S.Cnt. 2
B»S.Cnt. 3
B»S.Cnt. 4
B> R. Cnt.
B> Cnt. 2
B> Cnt. 3
g
B» Fl. Hn.
g
E>S. Hn
g
E» Hn. 1 F
5
g
EbHn. 2
5
)
B Bar. 1
=
9
Bb Bar. 2
=
g
B> Tbn. 1
g
B> Tbn. 2
5
Bs. Tbn.
g9
B> Euph. 1 == =:
S < = Z =
re
g
Bs Euph. 2 =: = =:
= = = = =
mp - = _
rp
g n
E»Bs. 1
= = 2 — = =
> S—
re
g
E>Bs. 2 = E : E
A RN EES Ea 7= = b
rp
%
By Bs.
Sae] = = =
z =3 = =
re
(egular ticks)
Timp.
=
S
rp
9
Perc. 1
=
pore-2 ; ==
Perc. 3

REDBAD - 20




93 Senza misura (J = 54)

Adagio (= 62)

2 Py b = & -
Eb Cnt. %
" = i t
P —| espress i ——— e
~
BbS.Cnt. 1
Gi
B»S.Cnt. 2
B»S.Cnt. 3
B>S.Cnt. 4
BbR. Cnt.
BbCnt. 2
~
B> Cnt. 3
Gi
Bb Fl. Hn. =t =
mp semplice p%-%d
L . . o, Sy be = & —
Eb S. Hn.
N [ - C — — 1 —"
9 A )
EbHn. 1
. t
4 __
A ) )
EbHn. 2 : -
54
P S —
9 ~ P——— ) )
By Bar. 1 %
B ¥ f t
P  —
~
Bb Bar. 2
P _
sraight mute open
B> Tbn. 1
Gi =
psemplice P A
~
B> Tbn. 2 =
» | —
~
Bs. Tbn.
g ,
Bb Euph. 1 F =
3 : :
P e
T
Bb Euph. 2 [
CaE}
T
EbBs. 1 —
o=
S
EbBs. 2 =E
9
Bb Bs. ‘;
<
Timp.
= 2
9 A
Perc. 1 %
Ui
~
Perc. 2
~
Perc. 3
REDBAD - 21

E>Cnt.
~ = — -
&S ot ==
B> S. Cnt.
B> S. Cnt.
B>S. Cnt.
B> R. Cnt. = = = = =
PP
cup mute ) ) _ -
B>Cnt. 2 =
i Z = ; =
np 23
N cup mute
B>Cnt. 3
Gi e = =72
op —_— 0w
5 § %%d ——=
By Fl. Hn. = = f :
Gi ¥ ¥
mp molto espress _ p —w _ nf _
) e > 2
E>S.Hn e %
G —
p————|p = ————p
5 %
EbHn. 1 = E
G + t
M F mf espress. _
E>Hn. 2 f
o = = =
mp——— p P
) 5 pbe - - -
By Bar. 1 S z f f
p———p mf espress _ nf
g
Bs Bar. 2
Gi -
mp——— p e —
B>Tbn. 1 : : : :
mp—— [p =
B> Tbn. 2 =
= =
mp—— |p
— -
Bs. Tbn.
’ ‘ ——
9
B> Euph. 1
Cp—
9
Bb Euph. 2 [
B
E»Bs. 1
S i
P
g
E»Bs. 2
P
p—
) \
BbBs.
=
—
Timp.
9
Perc. 1 %
Ui
Perc. 2
Perc. 3

REDBAD - 22




108 Ritenuto Stringendo Sub. (4= 50) Sub. (4= 50) Slent.
5 n
Eb Cnt. % E>Cnt.
5i
—— |
L~ s .
0 be a. P — be £, e b 2 I A— — e B o = P
B»S.Cnt. 1 = == B»S.Cnt. 1 =
. = = E L3 Al R S——
mpapiacere A pp | —— » » mp
~
B»S.Cnt. 2 B»S.Cnt. 2 |
< =
ur aight mute /;;/:;‘m
B»S.Cnt. 3 B»S.Cnt. 3
N S ——— rp ] =
straight mute f’;/"”w
B>s.Cnt 4 |[i& ] : B>S.Cnt. 4 =
N S = +=
s ” Sdeciso
straight mute straight mute
, ) 5 =
By R. Cnt. B> R. Cnt. =
5i = 5i = 7 = T
e 53 Sfeciso
straight mute N :_mmglu mute _
£ = B Cnt. 2 = 5 = =
B»Cnt. 2 = il 5 = Ca = Ca
‘ feciso
N _ siraight mute
~ B> Cnt. 3 = =
BCnt3 & F = s = Can—
= fdeciso
9
) \ = , % N . ~ Bb Fl. Hn.
Bb Fl. Hn. 7
E = == ——
P —_— w——__p Py 2 - o~
L~ ~ E>S. Hn : 7 e
EbS. Hn. % “ —— | mp. P
S m/s. ; p ———
) ?ﬁ =
O = 4 o) EbHn. 1 =z
2
Eb Hn. 1 g‘ = E: : = w— | T
P mp P N
5 ~ E>Hn. 2
Eb Hn. 2
» " = r g = - = P —
Y>3 s ~ L — ~ B Bar. 1
B) Bar. 1 - ’ ===
. = P > p —— —_— | w ¢ _— |p _—
22 N
X _ X X ~ Bb Bar. 2 = E
Bb Bar. 2 * ——
o = i - = " staight mute np _ —_—
2 z . apen
) k- =2
- - , - B ~ B5 Tbn. 1 =
B> Tbn. 1 % it = Sdeciso mp——|p —_—
)22 np P
0 > - > ] I I
o] B> Tbn. 2 ==
B Tbn. 2 = v v —
L = E = " p ——— » [ —
— - L~ — T |
) ~ Bs. Tbn.
Bs. Tbn. ‘ = = y —— o » R
p np » N
N ~ By Euph. 1 (&
Bb Euph. 1  —
Euph. 1 i w , E—
)
~ Bb Euph. 2
Bb Euph. 2
)
E»Bs. 1
2
Eb Bs. 1 & P |
9
N E»Bs.2 & =
Eb Bs. 2 % |
o= o e = P —
P p ) )
5 B Bs. S -
B5 Bs. E:
S 7 > —
— z = N . » ——
b2 mp
Timp. 52
& =
Timp. Vibraphone 4
5 e — Ep—
Perc. 1 & =
’ ~ G v 2 =——
Perc. 1 § f » f np »
@0 £ ! A A
Glockenspiel (metal mallets)
~ 5 = - ———
Perc. 2
Perc. 2 § = =
S
- Tubular Bells
- 5 — —, e
Perc. 3 Perc. 3 7
Gi
S

REDBAD - 23 REDBAD - 24



Duke of the Franks
121 (J=44) Slent. =78 Scherzoso (o = 78)

cup mute 133
9 9 : T a = : T a 2
Eb Cnt. £ R £ E> Cnt.
— s
B> S. Cnt. B>S.Cnt. 1
) 5 S. Cn %
nf r
556 B A em— = e P a— by | B | ;
b S. Cnt. B»S.Cnt. 2
» ’ v
Izl — P — , I
B> S. Cnt. B>S.Cnt. 3
- > S. Cn @
Bs. ont £ 9 = L2 =
- Cnt. B>S.Cnt. 4
> v g G 7 7 7 7 =
BbR. Cnt & b _ o ~ | - _
- . B> R. Cnt.
» 5 7 v 7 ==
) cup mute . o B B B e | ‘7 e - - B N B div. i
Bb Cnt. 2 : — By Cnt. 2
* » P ’ o i ===
) cup mute = . _
ByCnt. 3 - )
14 e - sons [ === =
e —
9
Bb Fl. Hn. S By Fl. Hn. &
M
- - 0
Eb S. Hn. : : 3
Tre— E»S. Hn &
mp————— | p
ga
- - - 9
Ev Hn. 1 < 7 7 £ Hn. 1
F.d -
5
EbHn. 2 = 1
& = E>Hn. 2 &
= - = 3 3 9
By Bar. 1 &= f £ By Bar. 1
S Y ©
Bb Bar. 2 - E ) 4
o= - Bs Bar. 2 >
) — Stand in front of the stage (optional) Solo, straight mute
B> Ton. 1 = z 5 P . - . bo
G » B>Tbn. 1
. —
) Stand in front of he siage (optional)
B> Tbn. 2 : )
™ B> Tbn. 2 &
Stand in front of the stage (optional)
Bs. Tbn. = :
—_— » Bs. Ton.
straight mute
Bb Euph. 1 - = > 9 T
2l o B> Euph. 1
straight mute v | — ==
. pleggiero nf P
Bb Euph. 2 9 ; ; —
= Bb Euph. 2 [ i ; i
pleggier == - e =1 e =
P
5
E»Bs. 1 3
P E) Bs. 1 &
EbBs. 2 )
Dpc:3 W =g E»Bs. 2
Al
By Bs. 0
v ; = = BbBs. S
P
)
Timp.
Timp.
N Mar, o . £
Perc. 1 = = be. . £ - £ be. . £ . £ b P
v b :3 Perc. 1 = =
| ‘ mp
Small Triangle
Perc. 2 = Perc. 2
B o
9
Perc. 3 Perc. 3
o o

REDBAD - 25 REDBAD - 26



146

straight mute

2+3)
g - g
E>Cnt. ; ; B E»Cnt. ; i
EE== = s~ vom. & ===
\, -
cup mute
= e = 5
, = — ,
Bs.ont. 1 [z === B»S.Cnt. 1 %
P — P
ey A L )
B»S.Cnt. 2 = = B»S.Cnt. 2
= ; ; ; 7 =
nf P
p - e N e g9
B»S.Cnt. 3 > = B»S.Cnt. 3
5 S
mf P
0 - 9
B»S.Cnt. 4 = B»S.Cnt. 4
5 7 S
nf P
tright mute
) ) )
B» R. Cnt. ; = = i B B> R. Cnt.
SR v f 7 S =
—_—| P nf ——
g = = t t t t . g
B» Cnt. 2 G : C=E > = = B> Cnt. 2 G
— »
1)
B>Cnt. 3 = — B>Cnt. 3 [§~
SE i 5
—_— P
H p— —— I ——1
Bb Fl. Hn. & ‘ EF’ == f —= %Z& B5 Fl. Hn. & : == s / 2 = 2 =
I3 g E = . -
) . s P S —— 55 e N ——— - - - —
Eb S. Hn. E>S. Hn. = = HES = EEd e
5 S =
P — | _
) — - B 0 L = - — N N L = =
E> Hn. 1 = E> Hn. 1
5 i =+ iz ; ; S ; ; = ; ; =
P —_| _
) 4 4 . I ) I . 4 = 4 4
Eb Hn. 2 ; ; 2 e E>Hn. 2
S = SES—— f = f 7
P J _
5 \ 1) 5 ] p— =1 -
By Bar. 1 § : £ 5 % By Bar. 1 e 5 @‘
) pleggiero L v — =i — = ==
1) fr—
Bb Bar. 2 Bb Bar. 2 — @
= S = s =
- - o slowglis » —_—
Z -z 2 bE e = bE = Return to seat .
B> Tbn. 1 B> Tbn. 1
G ——= =
. Solo ) ‘ . P L N . S A ol ssss | /™R Return o seat
B> Tbn. 2 = B> Tbn. 2
N p—| o === “ L= f——
Bs. Tbn. = Bs. Tbn. = e
5 T 5 o . .
Bb Euph. 1 & e B» Euph. 1 & z @‘ £ z
S = S v v
—— = fJ_J p—|
—_— |
P N 0 open —
Bb Euph. 2 [§ Bb Euph. 2 [
T =S=S=S S — —— —
—_—— P —_—
g
E»Bs. 1 E»Bs. 1
5 5 7
dim.
g
EbBs. 2 E»Bs. 2
3 5
dim.
9 9
B» Bs. B» Bs.
5 S
din
Timp. Timp. e
) e £ be £ e ualr b be " babe P2 bebe be be bobebe b be he 2 b be e e . . , . .
Perc. 1 = i i : i Perc. 1 = i i :
[Po e s o == S Ee e e EESS
nf P _ —_—
Glock. (damp) N
Perc. 2 £ = i = : Perc. 2 %
5
P
" Tambourine
Perc. 3 Perc. 3 ﬁ =
“ ” nf dim,

REDBAD - 27 REDBAD - 28



_ - > = _ — N
Eb Cnt.
== == sl S
mp —| mfmp —| mfmp 1
smight e . . — P
BbS.Cnt. 1 =
* ‘ ————| wmp I
> — —_ x| .
B»S.Cnt. 2
—_—| fmp 1A
straight mute . >
— 1 = - -
B»S.Cnt. 3
S —_—
mp —| W R
. straight mute . . ==
= - — 3 = \
B>S.Cnt. 4
<
mp —_— wmp —_—|f
== ~ = >
b R. Cnt.
B RO [ | = ’ = == ==
—| —| —
5 seightmue = —=—N - = —=—N - i =] h
Bb Cnt. 2 § = = = = E
mp —_| wfmp —| wfmp i-:;:: ;
smightmite
B> Cnt. 3
G & z 2 < — =
wp —_— —_— _
9 .y
Bb FI. Hn. 5
o= < =
mp — s
- - - _ - - [ -
Eb S. Hn. §
A [
Eb Hn. 1
SRS 7 = v = v —
i — | s
EbHn. 2 e = = i3 < 7 —
8 —_—
4 t t p— t p— .
By Bar. 1
B =i S =
,,,, —| f
By Bar. 2
9
B> Tbn. 1
<
)
B> Tbn. 2
<
__Sob oy == - N > > =
Bs. Tbn. = == ==
; = e e A T I
9
Bb Euph. 1 |F
0i
s
Bb Euph. 2 |_§
) — — P
EbBs. 1
mp
EbBs. 2
Gi e < =
B Bs.
DR - o i = -
np
Timp.
mp
. b e -
Perc. 1
[ = == j——
np
)
Perc. 2
<
Perc. 3
mp _ S
REDBAD - 29

E>Cnt.

By S. Cnt.

B>S.Cnt. 2

B>S.Cnt. 3

B>S.Cnt. 4

B> R. Cnt.

B> Cnt. 2

B>Cnt. 3

Bb Fl. Hn.

E»S. Hn

Eb>Hn. 2

By Bar. 1

By Bar. 2

By Ton. 1

B> Thn. 2

Bs. Tbn.

B> Euph. 1

B> Euph. 2

EbBs. 1

E>Bs. 2

Timp.

Perc. 1

Perc. 2

Perc. 3

4
Ui
|F cup mute | —
s =
cup mute
| : : Sese==ETene
5 SE====2
mp
9 —_—
Ui
ﬁ =
Ui
Tﬁ
9
)
=
)  ——
& o
cup mute
N o~ a 5 L~
o nf e mp g
cup mute
4
5 i + ; i :
nf mp
. cup mute - - - - -
o ; ; ; i ; ;
nf mp
4
5i N = =
nf
cup e
9 a a
j% L4 mp
9
Ui
ﬁ
&
Return 10 seat
_
straight mute
I =T — —T ] =T —
Ui
mf leggiero np
straight mute
4
D =]
nf leggiero
9
9
B mf leggiero
N One player
2
mf leggioro
e £ e ? . - be . be - . .
f nf np
)
2

REDBAD - 30



Eb Cnt.

By S. Cnt.

B»S.Cnt. 2

B»S.Cnt. 3

By S. Cnt. 4

BbR. Cnt.

BbCnt. 2

B> Cnt. 3

By Fl. Hn.

Eb S. Hn.

EbHn. 1

Eb Hn. 2

By Bar. 1

Bb Bar. 2

B> Tbn. 1

By Thn. 2

Bs. Tbn.

Bb Euph. 1

Bb Euph. 2

E»Bs. 1

EbBs. 2

Bb Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3

Tamb,

2
5
- [ » £
£ £ = ==
- e - » &
o nf — 7 l—% |S——
9 £ Y
:
—,
0 £ .
:
—,
5 o _ _
o mp '
4 — p— p—
o mp
mp
o =/=JQ==‘ —
< S = S k=
—_— , -
1/ - W ™ A~ -
P
9 - - g - .
P
g P — M - » tolm #
[ e
P mp
£ £
: f =
S ———
‘ == =
N
5
{
po
: :
- - e e
— — —
5

REDBAD - 31

np

21
’ open N .
E> Cnt. £
B (== —— ==
nf- a
e ST Py be babe | be 2 b S
B>S.Cnt. 1 == ==
. " Cl 7 =
f S
bebe | e @ |beT [
B> S. Cnt.
==
4 o —
babe be | be [
B> S. Cnt.
= == ==
S
T — —
B S. Cnt. =
S
= 5
B>R. Cnt. e
| S
div unis, di L
B> Cnt. 2 ! ﬁ‘ £ 2
S
| —
B> Cnt. 3 L : =
v
9 S —
By Fl. Hn. = s 7 =
G =i ;
apen W ——
0 5 L PR — r3
E>S. Hn. %
= == %}( -
mp s |
N open B ) — ==
Eb Hn. 1 %
o " == T % T
mp v m_/«< Va
open
P A—
) =l -
E>Hn. 2
7 r
. nf —— f
9 otate B be b > e
Bb Bar. 1
5 ===t
R E—
open N —
9 ﬁ
Bb Bar. 2
o —— L
g _ ; be ; b > T
B> Tbn. 1 b
Ui
v
= = :
B> Tbn. 2
5 ;
* mp leggiers nf-——=—| f
b L, , —
Bs. Tbn.
wf —— f | -
g" open S
B> Euph. 1
© == i
f
9
B> Euph. 2 <
) N
E>Bs. 1
2
9
E»Bs. 2
Ci
)
BbBs.
2
Timp. [§
P - be
Perc. 1
9
Perc. 2 %
Ui
a
Perc. 3
f
REDBAD - 32




Eb Cnt.

a
iy
=

BbS.Cnt. 1

a
Sy
L=

BbS.Cnt. 2 =

7

=
B»S.Cnt. 3 f

LA

=
BbS.Cnt. 4

K

=~
B> R. Cnt.
7
=~
Bb Cnt. 2
K
By Cnt. 3 z
K
P ————
Bb Fl. Hn.
e — ij
EbS. Hn. = = =
K
. L
Eb Hn. 1 %
! =, —
EbHn. 2 7
o S === — i i i v
“—‘v% So —_—
by P
Bb Bar. 1 % f f f s
P E—— s o —_—|
=
Bb Bar. 2 %
5 : f : 7
P E—— V3 —_—
9 - P — > b ~ B
ByTon.1 & 2
v T JE—
[ Ve —r— —
Bb Tbn. 2 =
S T JE—
Bs. Tbn.
V3 —_—
P ,
B Eop 1 ==
s o [
PaES , , , N
Bb Euph. 2 E =
W f
Eb Bs. 1
’
Eb Bs. 2 §
By Bs. >
5
Timp.
e 't b hebe £
Perc. 1
Perc. 2
Perc. 3

REDBAD - 33

[235] Ritenuto
g
Eb Cnt. F
5
g
B»S.Cnt. 1
5
g
B»S.Cnt. 2
5i
9
B»S.Cnt. 3
=
9
B»S.Cnt. 4
=
)
B R. Cnt. F :
S
g
B Cnt. 2 F
5
1)
BCnt3 |
5
5 —~ Ty e
Bb Fl. Hn.
= = = = ==
mf
) e Y
E»S.Hn =
M ==EE==S
g
9
Eb Hn. 1
=
EbHn. 2
S
. — e
By Bar. 1 :
5 4 7 % 2
nf
1)
Bb Bar. 2
S
. , i - , P = =
Bb Tbn. 1
mf sonore = = |7
r—"'g r—"g e ——
B> Tbn. 2
; , —— , P - —
Bs. Tbn.
nf sonore 7 7 7 [—
)
Bb Euph. 1 F :
S
g
Bb Euph. 2 [
5
E»Bs. 1
5
g
E»Bs. 2
9
Bb Bs.
=
Timp.
be "2 P -
Perc. 1
= [ 5 —
Perc. 2
Perc. 3
REDBAD - 34




Elegy 1

250 Meno mosso (4 = 48), senza misura Allarg. Adagio (- = 58)
5 =
Eb Cnt. % I
S
]
BbS.Cnt. 1
o
B»S.Cnt. 2
Si
)
B»S.Cnt. 3
G
)
B>S.Cnt. 4
G
9
BbR. Cnt.
5
5 [l
B Cnt. 2 o
o
[l
B> Cnt. 3
o
—r—
~ ——_
Bb Fl. Hn.
o Lo Z Z
—— papiacere —_—— »p
RO Y ot L V_!—!_FF |
Eb S. Hn. =
G = ==
= papiacere _— | »
5 il
EbHn. 1
G
=
Eb Hn. 2 o
G
5 [l
Bb Bar. 1 § E
o
]
Bb Bar. 2
> [l
B> Tbn. 1
P
- il
B> Tbn. 2
P
~ [l
Bs. Tbn.
P
5 =
Bb Euph. 1
[l
Bb Euph. 2 [§ i
o
[l
EbBs. 1 =:
o = -
o
[l
EbBs. 2 > =
- -
5 il
Bb Bs. = 3
G
= v
Timp.
_ [l
Perc. 1 [?
[l
Perc. 2 o
-
Perc. 3
REDBAD - 35

257 Allargando A tempo (- = 58)
\ harmon mute (stem in)
E>Cnt.
B f
mp.
harmon mute (stem in)
9
B S.Cnt. 1 ||
o
. harmon mute (stem in), aliemate breathing with Solo Cot. 3
\ ,
B>S.Cnt. 2
o f i
mp i
harmon mute (stem in), aliernate breathing with Solo Cot. 2
9
B>S.Cnt. 3
<
p i
\ harmon mte (stem i), altemate breathing with R. Cit
B>S.Cnt. 4
G - i
" Harmon mut (stem in), alternate breathing with Solo Cin. 4
B> R. Cnt.
5
np
N unis. harmon mute (stem in). alternate breathing
B>Cnt. 2
5
mp
’ harmon mute (stem in), alternate breathing
B>Cnt. 3
o
9
By Fl. Hn.
G
9
EbS. Hn
>
9
EbHn. 1
<
E>Hn. 2
G
9 —_
By Bar. 1
5 ==
mp sostenuio
9 —_
Bs Bar. 2
o
mpsostenuio _—
" o P 4
B>Tbn. 1
. be o ly
B> Tbn. 2
N -, =
Bs. Tbn.
== == 7 j——— f
mp sostenuto [ —
9
Bb Euph. 1 F
5
9
Bb Euph. 2 [
o
E»Bs. 1
£=3 == =i
E»Bs. 2
= ERE ™
BbBs.
2 33 4
_ =
Timp.
Perc. 1
Perc. 2
BD. L
Perc. 3
— —
mf—— p mp—— p

REDBAD - 36




Ad Arma

air accents Molto allargando Bravuro (- = 144)
Eb Cnt. = = = S S
4 =Tt ==
S pP——p—p——|p—p——p
air accents
B> S. Cnt.
B> S. Cnt.
B> S. Cnt.
By S. Cnt.
Bb R. Cnt.
air accents
9 = ~ - - _
B> Cnt. 2 Iz
R ==t ==
ra pP—=—p—p——|p—p——p
air accents
B> Cnt. 3
o = = = = =
ra pP—=—p—p—— p——p——p
> —
Bb Fl. Hn.
o =
p—————
L = P O S —
Eb S. Hn.
©
" Pep
)
EbHn. 1
G —
e -
s
Eb Hn. 2
’ ha
trb s
P
£ £
By Bar. 1
Ra—- =~
trb s
—
£ £
By Bar. 2 l
Ra— =~
B> Tbn. 1
o
PP
Bb Tbn. 2
Si
P
Bs. Tbn.
) aup mute . _
Bb Euph. 1
=
mp
)
Bb Euph. 2 T@
G
5
EbBs. 1
G
r
EbBs. 2
o — =
P
By Bs.
D 3
T
Timp.
Vibra. (motor on - slow fam)
Perc. 1
ore Pz —a=
S %
Perc. 2
Perc. 3
REDBAD - 37

275
g
E>Cnt.
5
By S. Cnt.
B> S. Cnt.
B> S. Cnt.
B>S. Cnt.
B> R. Cnt.
B>Cnt. 2
9
B>Cnt. 3
Gi
5 - f— troe s —
By Fl. Hn.
G
o~ —
9 P —
EbS. Hn
>
9 P — troe —
EbHn. 1
<
w o —
E>Hn. 2 =
G
trb e
——
9 £
By Bar. 1
5
trb o
9 = T
Bs Bar. 2
Gi
B>Tbn. 1
= e
B> Tbn. 2
G = =
Bs. Tbn.
- k2 - - Ed Ed
9
Bb Euph. 1
» Eup ﬁ e ———— = E==SS==gSSSsss=g
9
Bb Euph. 2
PR l“ e == === == SS=S
E»Bs. 1
o
9
E»Bs. 2
o
9
BbBs.
o
Timp.
Perc. 1
5D -
Fere:2 === ==
7
Perc. 3

REDBAD - 38



281 open

5 == == > Fop i, bebeidle S tatate
Eb Cnt. % E>Cnt. =
S 7 === === =
open EE———— -
b 5 iy tete = | £ I3 B bet, tebe ST _tetete
BbS.Cnt. 1 B> S. Cnt.
= == == 7 =
open L — -
b 5 iy tete = | £ I3 = £ bet, tebe ST _tetete
B» S. Cnt. B> S. Cnt.
== == i =

e e i —~ - 3 Shes ) tebe SN berete
B> S. Cnt. B> S. Cnt.

- R

e e iz — - : e tebe SN Ltetete
B> S. Cnt. B>S. Cnt.

b R —

BbR. Cnt. B> R. Cnt.

mmeﬁﬁ

B> Cnt. 2 B> Cnt. 2 ZEs
R === ===
B>Cnt. 3 = B>Cnt. 3 %ﬁ
= ; ; - ==
K
e e = = I _— Wl W — B —— W Wy |
Bb Fl. Hn. > E 5 Bb Fl. Hn. — R
G ¥ = a— i i e =
05 T he . o be, ba > 2 = P — S 5 = — 4T N by T ipte
E>S. Hn. > > E>S. Hn
5 — S _—_— e e ==
§ = T he . o be . b > i S > = > 5 = > Wl e T o te
E> Hn. 1 > > E> Hn. 1
5 5 S ¥ = _—_— e e ==
p = = = = | = = i g = e s
E> Hn. 2 = EbHn. 2 =
" o = i = i > Hn G t = t _— = == E §=
= = = = = = b3  be £0E 2o, idbe 0 Trter cr e T e S oo oo oo - 3 bebe ST [Dbe p ST TN be besSTo TSi, eiebe
B Bar. 1 = ' == B Bar. 1 === =
7 s ¥ == S =
- = - . e £h a0 2T PP el R . , T e b s e,
Bb Bar. 2 = = ﬁj_g Bb Bar. 2 rrrr——rrrr
= = = ; ; 7 = = _= e = =
[ ————C A = 2 b = = = == >==>2 = = £ > e e 4y £ L >
B> Tbn. 1 B> Tbn. 1
5 —— — —=
> > = | = = = = |- - - - e e - - - e |z z -
B> Tbn. 2 B> Tbn. 2
P P — S—) © i3 ==
Bs. Tbn. Bs. Tbn.
Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed Ed
§ b - 3 g £ = e £0e 2=, idbe P W e I ; , TR, e e e e piele
, ,
BEwpn 1 [ 2 == & Eupn. 1 F == BsSESSsacsiaiias
y = = = |- b .- e £0e 2o, idbe P W or-ru B : , TR, e et e e et
& Euph. 2 = & Euph. 2 Eaasa
wh-2 - &= ' = i EdgdsemaaagEmeepSSEs e
E»Bs. 1 E»Bs. 1
D i DR
g
EbBs. 2 E»Bs. 2
s Ed Kl Ei Kl il Kl
9 9
B» Bs. B» Bs.
oL = = S = = s v
Timp. Timp.
Perc. 1 [E2 Perc. 1
Perc. 2 : ====== S======i= Perc. 2
Perc. 3 : : : : : Perc. 3

REDBAD - 39 REDBAD - 40



291
a
5 &

straight mute

= > =

Eb Cnt.

straight mute
T

== ==
mf

By S.Cnt. 1

B> S. Cnt.

B> S. Cnt.

By S. Cnt.

n
straight mute
T

Be==1T=
nf

straight mute

==

straight mute

BbR. Cnt.

BbCnt. 2

BbCnt. 3

Bb Fl. Hn.

f

E>S. Hn.

—s—

L

Eb Hn. 1

nf

Eb Hn. 2

o

N

nf

Bb Bar. 1

Bb Bar. 2

O

B> Tbn. 1

By Thn. 2

Bs. Tbn.

N

Bb Euph. 1

Bb Euph. 2

EbBs. 1

B B B

&

o

EbBs. 2

i

o

By Bs.

Timp.

Perc. 1

Bongos (w/ hands)

Perc. 2

Perc. 3

REDBAD - 41

208
9
E>Cnt.
B
open
£ ~ = ==
By S. Cnt.
g = == = =
mf leggiero
apen
; 4 ~ = ===
B> S. Cnt. i;fé_ E—‘
B> S. Cnt.
B>S. Cnt.
4
B> R. Cnt.
=== 4
mf——————— | p
B>Cnt. 2
9
B>Cnt. 3
Gi
9 ——
By Fl. Hn.
T — —— D ———_ —_ = = —
9 Z
EbS. Hn
o= — i — T
9 Z
EbHn. 1
D === == 2 e
E>Hn. 2
G == 7 =
9
By Bar. 1
B f === = #
mf
9
Bs Bar. 2
Gi f SE=SSS = 7
nf
> ¥ 0 < 2 = - _ - _
B>Tbn. 1 =
B> Tbn. 2
G 7 7 7
nf
Bs. Ton. 2 2 = £ =
7 t
mf
9 4 4
B> Euph. 1
o ” == ” ==
f — | mf———— |p
9 4
Bb Euph. 2 [
B . E== ‘f =7 = 7
e — ny
E»Bs. 1 <
9
E»Bs. 2
R £ ERN
of
9
BbBs.
G z 4 z <
'
Timp.
9
Perc. 1 %
5
= - = = - = - = —
Perc.2 == == == = === ===
Perc. 3

REDBAD - 42



5 s > . . Pravs r I - " 5 i e
Eb Cnt. % E>Cnt.
5 S =
S
O — =l = z3 - S > > 3 > 3 > P —
B> S. Cnt. B> S. Cnt.
14 —_—— I_A(_l 3 _—— L_A{_A ] —_——
5 ; 3
= = | = x, - e = = 3 = 3 = e ———
BbS. Cnt. B S. Cnt.
14 —_—— l_:_l 3 —_—— I_Ay_l 7 —_—
f ’ E
L > -
B> S. Cnt. E== e B> S. Cnt.
f === = = R s
7
open . _
B»S. Cnt. B»S. Cnt.
f === = — = s
7
e P =g =3 3 = == 7 = 7 = - |uz
B» R. Cnt. B> R. Cnt.
4 _— == T — = 5 = |
; ; ;
I -
B» Cnt. 2 = B> Cnt. 2
= > — =
——
B»Cnt. 3 E B»Cnt. 3
i e — = = =
3 -
Bb Fl. Hn. > = E Bb Fl. Hn.
S = < = 7 === f e e IS s s 7
L R
0 e — ? —
E>S. Hn. _ﬁ == E>S. Hn =
o7 — > =
4 s
) P e —— ﬁ = =
E> Hn. 1 > > E> Hn. 1
o7 <
f B
= .. = = = =
E> Hn. 2 == === EbHn. 2 =
Sang —
S
5 —r—T e e S P e ek P — D —
Bb Bar. 1 § B> Bar. 1
i -
—Tr—Tr P P P —— y ) 5 >
Bb Bar. 2 = Bb Bar. 2
ot N 5 —
f
= S = = = - > - > > > - > ) = = = k. - - === == 42 P ——
B> Tbn. 1 > : > B> Tbn. 1
= ==t =
7
) - = - - - - - - [ - - e o - - - > e oo - -
B> Tbn. 2 = = = B> Tbn. 2
. v — v e = = .
S
_ ~ = - - - = - 2333% z N _ 3 3353 2 = 55552 peees 222323 33333
Bs. Tbn. S===t Bs. Tbn. === = ===
== v ; v f — f 2 2
S
5 iy P e e ——— m 5 === PPN —_—
Bb Euph. 1 = = B» Euph. 1 == %ﬁ\
’ v — : - i
5 —TT = P el B e———— T 5 = -
Bb Euph. 2 [% : =F Bb Euph. 2 l.‘
g
E»Bs. 1 5 E»Bs. 1 5 = 5
R = = = = = = R K < F« < K] = =
g
EbBs. 2 E»Bs. 2
= E — z & : = Ei = = = = =
9 9
B» Bs. B» Bs.
D < Ei ¥ El Ed 7 £l oL = = = = Ei Ed
— T = B = = = -
Timp. Timp.
z = = =
4 g
Perc. 1 % Perc. 1 %
S S
- - - sP. - . -
Perc. 2 = ' Perc.2 rrrrrrrrrrrery
K
(B.D)
Perc. 3 : 2 : : : Perc. 3
nf — s Va

REDBAD - 43 REDBAD - 44



@L‘jﬂ““ (4=52) Slent.  Sub. (/= 144) Lento (J=52) Slent. [322] subito (J = 144) Lento (- = 52) Allarg. Subito (J = 144), attacca
gy £ = = = = I} = e — I o] =
Eb Cnt. % = E>Cnt.
5 =— = 7 5i = = 7
5 K
= Y —— P ~ i
BbS.Cnt. 1 = == = B> S. Cnt.
S 2 ==tt= 7
_ i - = = = = =
BbS.Cnt. 2 e > B S.Cnt.
S ¥ ==
Vs B N2
5 s -z = ~ -
B»S.Cnt. 3 B S. Cnt.
. ¥ 14 L=
Vs El N2
5 s -z - = ~ -
B»S.Cnt. 4 B S. Cnt.
. ¥ 4 ==
7 7 N
Y _— e e = ol =
By R. Cnt. B> R. Cnt. i
o - = v
v K
4 —_— = _———1 ol i
B Cnt. 2 % B> Cnt. 2
o <= = v
v K
N ___ g = > > EE— - > ~ .
By Cnt. 3 7 - By Cnt. 3 G : z
S e ————= — =
VA K
Solo _ _ _ P ——— ~ -
Bb Fl. Hn. = Bb Fl. Hn.
TitN——— == === = ‘ Rav 5
pespress —_— ffw P _ k4
) " _/\ — 4 a’m " al >
Eb S. Hn. = 2 E>S. Hn = :
> F
* p——| b P [— © . P e N2
) n D = = al
EbHn. 1 E E E EbHn. 1
7 [ —— — ' i g ’ 7
) n n =~ ol -
E tin.2 =Z=SSss2s 28— & .2 ’ :
T 7
N2 P i
PP 43 S ) tetete & al o
By Bar. 1 % B» Bar. 1 & z
v Va P e— S sub. P 7
- g = A =
Bb Bar. 2 E > Bb Bar. 2 z
v o b » i
~ A
~ . = _ _ _ _ _ _ - & > - < i F fied
Bb Thn. 1 5 = 3 B> Tbn. 1 & = £
v P [ » [E—— S s, P = N
s _ _ _ _ _ _ - _ _ y = - - — Q) L
B Tbn. 2 - - - Bon2  |& i
DR s * ffsu 4 ! ' =
P —_ [ P e — » — 7
L 1 |l . L - - =7
Bs. Tbn. = Bs. Ton. 7 : -
=2 » —_— ffw P [E— S sub. P —rp L
) - 0 e Al iieraete B R A
B» Euph. 1 By Euph. 1 [ =_— 1% :
S - 7
5 K P v
5 - o et | B A \
B» Euph. 2 lg B> Euph. 2 : ==
T - 7 3
9 n
E»Bs. 1 == 3 J E: T E»Bs. 1 SET = < = =
» - S sub »
g n
EbBs. 2 =55 3 = T E»Bs. 2 — = == < ==& =
= = [ =
r _ SFsub. P
5 g
B Bs. == : B> Bs. B e —— 5 457 ¢ 5 2 El
= ya P -
—_— . (regular sticks)
Timp. s Timp. 2 =
L P
N (J‘\m’\ N ' 4 gy
Perc. 1 % S — = Perc. 1
S S == ==
» 4 ERE I E » P Bongos )
_ Field drum (snares off) FD. s, _ _ N D. - (wsiicks)  CC
Perc. 2 Perc. 2
7 ) * % f % == f £ =
P a P
- BD. ‘Woodblocks
Perc. 3 2 2 Perc. 3 :
5 L

REDBAD - 45 REDBAD - 46




 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: consecutive
     Sheet size: 11.693 x 8.268 inches / 297.0 x 210.0 mm
     Front and back: normal
     Align: centre each page in its half of sheet
      

        
     D:20220307150053
      

        
     0
     CentrePages
     Inline
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     0
     0
            
       D:20220307150033
       841.8898
       a4
       Blank
       595.2756
          

     Wide
     16
     Consec
     723
     302
    
     0
     Custom
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0m
     Quite Imposing Plus 4
     1
      

   1
  

 HistoryList_V1
 qi2base





